Solutions for Practice of Section 1.2

Sketch these graphs using intercepts, symmetry and a y=-/3x-2
table if necessary. ,
Y v =2x+1
x3 _y3 —
Determine the x and y intercepts and the symmetry of
y P y y X +xy=3
each of these
xz _yz —

Write an equation of a circle such that the endpoints
of a diameter segment are at (-2,3) and (4,5)




Sketch these graphs using intercepts, symmetry and a table if necessary.

a) y=-~/3x-2
by ¥y =2x+1

a)

Intercepts:
y:

*=0 H: \{ 50-1 = g‘l not a real number, so there is no y-intercept
X:
N0 o=l

0=%%-1 . (i‘ 03
”)}Lt(l X-intercept: - {
A gn
X = =

There are no symmetries that can help us, so we need
to make a table:

X y )
1 1 3
2 2 :




Sketch these graphs using intercepts, symmetry and a table if necessary.

a) y=-3x-2

by ¥y =2x+1
b)
Intercepts:
x: ‘330 0=0Lx% +| /_\
-\ =2% /=1
o
9 =X x-intercept: (-1/2, 0)
yi  XcO uk'“-_ 1 y-intercept: (0,1), (0, -1)

=1

The y-intercept seems to indicate that there may be a symmetry with respect to the x-
axis. In fact what would happen to the equation if y was replaced by (-y)? Since (-y)?
=y2, the equation remains unchanged. Therefore there is a symmetry with respect to the
X-axis.
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X y 4

15 2 2 =




Determine the x and y intercepts and the symmetry of each of these

a) xS _yS — 2
by X +xy=3
0 X -y =
a) X-intercept, >(7>= 0 ;
y=0 > ﬂ_[ ( @‘ \ 05
2
- =2

y-intercept, 37’ = ( Dl e 3\[? >
x=0
>
= -2
Replace x by -x: \5 r

o)
Q‘Xi? . \g = - 7< ﬂ% # 7\/5_ Vg not symmetric with respect to y-axis

Replace y by -y:

\(7?’“ &“»&\5 — 38 — &— \/g\) = )(/5'% Vf 75 )(/}— \ab not symmetric with respect to

X-axis
Replace x by -x and y by -y:

(:_ X)S — (_ \637) = _%3,\_\/2;7 7£ X$=\</}5 not symmetric with respect to the origin




) xz—y =

b) y-intercept, 0= 3

0 This clearly is not true, so there can't be y-intercept,
X=

and O is not in the domain of our expression.

, X =72

;(;lg'rer‘cepf, . :5\6 <3@v ) Q)

Replace x by -x: (~XY§ ¥ (= X\)% - >{5w X\% o (‘}(%—\—X\a\) p
# Xq)"‘ X‘g» nho symmetry with respect to y-axis

Replace y by -y:

Xﬂ)”‘(—k\ = 7<q)—><“& 7,/5@ '%?5

no symmetry with respect to x-axis
Replace x by -x and y by -y:
L) % )
(-x) + L-ﬂ(w = =Xy A x-n

no symmetry with respect to the origin




Determine the x and y intercepts and the symmetry of each of these

3 3
a) X -y =2
by X +xy=3
0 x -y =4
-i %
b)  y-intercept, "\'G = Lf There is no real number whose square is -4, so there
x=0 \%Z - Lk is no y-intercept
x-intercept, _
y=0 =1 (()—l'\)\ \‘2 0)
X=+ 0 | )

Replace x by -x: TN P
(:«\(\ = \X S \/\/L*’ \‘E symmetry with respect to y-axis

Replace y by -y: Xq"~ (ﬂ L@Q- - )[L” \a’k

symmetry with respect to x-axis
Replace x by -x and y by -y:
2 R TS
G = () > X

symmetry with respect to the origin




Write an equation of a circle such that the endpoints of a diameter segment are at (-2,3) and

4,5)

Radius of the circle is the distance
between A and the center (or the distance
between B and the center, or half the
distance between A and B).

2 2
(- (4- "=
- ,7371(_ llz ﬂ_,@l o
The equation of the circle is:

@‘02* %—Lﬁl: [0



